IR-MB02 Metal Bracket (Lateral Type)

Composition

Bracket Upper : 1EA P @@ Screw M2.0 X 4
& & (Flat Head ) : 4EA.

@ Spring Washer M2.5
: 1EA

% Screw M2.5X 5
Bracket Lower : 1EA (P Head) : 1EA

How to mount

\

. Metal Bracket

SCREW M2 L4

(FLAT HEAD) : 4EA SCREW M2.6 L5

(P HEAD) : 1EA

It is also possible to install the actuator by turning it over in the opposite direction of the picture.
Make sure to use Spring Washer included in the bracket package when fix M2.5 L5(P-HEAD) screw
mark in the circle. Otherwise, it may cause serious product damage.

Thank you for your attention.





